Table S1: The number of cells that are present at the end of colony growth for each
phenotype, given the initial colony composition.

Initial frequency (%) Number of cells at the end of colony growth
Pheno 1 Pheno 2 Pheno 3 ‘ Phenotype 1  Phenotype 2 Phenotype 3 Total

0 0 100 0 =0 0 =0 1972 +£32 1972 £ 3.2
0 25 75 0 =0 66.2 +0.7 2074 +£46 273.6 +£4.2
0 20 20 0 £0 139.6 +3.5 1431 +£23 2827 £29
0 75 25 0 £0 2088 +1.7 713 £14 2802 +£2.0
0 100 0 0 £0 273.6 +£0.8 0 £0 273.6 £0.8
25 0 75 65.6 =+ 2.0 0 £0 2019 £08 2676 =£1.6
25 25 20 725 £09 695 £0.7 1433 £33 28.3 £19
25 20 25 71.3 £09 1390 +£28 70.7 +£1.5 281.1 £1.2
25 75 0 72.0 +£1.9 2057 £ 25 0 £0 2777 £0.7
50 0 50 142.8 £ 2.2 0 0 143.3 +£24 2861 +£1.2
20 25 25 1439 31 690 +£23 703 £1.0 2833 =£2.5
50 50 0 1434 £+ 1.7 1342 +£29 0 =0 2776 £1.9
75 0 25 203.2 +£27 0 0 65.2 +18 2684 +14
75 25 0 207.8 £27 681 £1.3 0 £0 2759 £ 2.7
100 0 0 251.2 + 1.5 0 0 0 0 251.2 + 1.5




